Soderkdpings BS
Partavling 2020-01-08

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poéng % Namn MID Klubb
1 5 133 60.45 Sven Arne Hjalmarsson - Sylvia Andersson 17736 29030 Valdemarsviks BK - Soderkdpings BS
2 1 128 58.18 Anders Hellstrém - Bernt Svensson 28615 36269 Valdemarsviks BK
2 6 128 58.18 Krister Lundblad - Ulla-Britt Wallin 29029 26350 Sdoderkopings BS
4 8 118 53.64 Torgny Andersson - Marianne Salomaa 42578 66256 Valdemarsviks BK - Norrkdpingsbridgen
5 11 117 53.18 Lars Lindvall - Ulla Hasselgvist 5658 34460 Soderkdpings BS
6 9 115 52.27 Goran Jonsson - Eva Jonsson 33101 33160 Ostra Ryds BK
7 4 110 50.00 Bengt Bruning - Hakan Heggblad 89513 89511 IFK Norrkdping
7 7 110 50.00 Gun Karlberg - Bo Lennart Karlberg 9735 28571 IFK Norrkdping
9 12 104 47.27  Solvig Carlsson - Evy Palmqvist 29119 25911 Sdderkopings BS
10 3 90 40.91 Torbjorn Axman - Anita Bergenfors 42580 52334 Ostra Ryds BK - Norrkdpingsbridgen
11 2 86 39.09 Helena Gustavsdotter - Ing-Britt Rapp 45900 54060 Norrkdpingsbridgen - Ostra Ryds BK
12 10 81 36.82  Berit Eriksson - Sture Lindqvist 91303 6716 Norrkdpingsbridgen - Soderkodpings BS
1 41064 Basta kontrakt 2 4 KD953 Basta kontrakt 3 & K986 Basta kontrakt
Nord v EDKn42 INTN =90 Ost v K65 54 S =650 Syd vED5 6¢ V =-1370
Ingen ¢ 654 NS +6 ov +43
#63 & ¢ v & NT #10843 & ¢ v & NT #8762 & ¢ v & NT
4753 &4KD8 N7 7777 4642 487 N6 5 11119 oE 4 DKn74 N21443
vK65 v10973 S77777 vKn vD743 S 6 5 11119 vKKn642 ¢8 S21443
¢+ED8 ¢Kn73 O6 6 6 6 6 ¢ K10872 ¢ DKn3 076212 + D986 ¢ EK107 O 10129 8 10
#E872 #K94 V66 65€6 #Kn652 #EKD9 V76212 #EK3 #10954 V 10129 9 10
& EKn92 4 EKn10 410532
v8 v E10982 v 10973
+ K1092 ¢+ E954 ¢ Kn52
#DKn105 &7 #DKn
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 3 INS+1 &7 120 100 00| 6 3 2vS+2 8 170 100 00|12 2 5¢ V-1 +3 100 10.0 0.0
5 7 INO-2 v8 100 80 20| 4 11 2¢vS+1 8 140 70 3.0|11 10 5¢ V= +4 -600 80 20
2 8 INS= *7 90 60 40| 5 7 3vS= *2 140 70 3.0 3 9 3NO+1 «£Q -630 30 70
4 11 INO-1 #Q 50 40 6012 1 2vS= *6 110 40 60| 5 1 3NV+1 &8 -630 30 70
12 1 2¢v N-1  #4 -50 20 80| 2 8 INO= v2 -90 20 80| 6 8 3NO+1 ¥9 -630 30 70
10 9 INO= v8 -90 0.0 10010 9 44 N-2 #A -200 0.0 100 7 4 3NO+1 &2 -630 30 70
4 & EKD2 Bésta kontrakt 5 4 D65 Bésta kontrakt 6 # KKn10852 Bésta kontrakt
Vast v EKKn852 5NT S =660 Nord v 1032 24 O =-110 Ost v Kn6 54 ND-1-100
Alla +5 NS ¢+ E976 ov + E98
#103 & ¢ v & NT #D102 & ¢ v & NT #83 & ¢ v & NT
4Knl07 4954 N7 8 11118 410943 & EKn87 N577 45 964 a- N3 8 2 107
v6 v 10974 S 7 8 111111 v K65 v EKn8 S576 35 v EK8754 vD1093 S38297
49876 ¢+ KD4 065222 ¢ Knl103 ¢ K8 0866 87 +3 ¢+ KD62 09 5 113 5
#EKKn85 #976 V65222 2984 #EKn76 V756187 #1074 #KD652 vV 9 5103 5
4863 4 K2 4 ED73
vD3 v D974 v2
+ EKn1032 ¢ D542 + Kn10754
#D42 #K53 #EKnN9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 9 4vS+1 ¢K 650 6.0 40| 4 10 3NO-3 v4 150 1000 00| 7 9 44 N+1 ¢K 450 10.0 0.0
6 8 4y N+1 K 650 6.0 40| 6 2 44 0-2 v4 100 80 20| 6 2 44 N= vQ 420 70 3.0
7 4 4vy N+1 K 650 6.0 40| 8 5 2NO-1 v7 50 6.0 40|12 3 44 N= v9 420 70 3.0
11 10 4v N+1 %9 650 6.0 40| 1 11 INO= v4 -90 30 70| 1 11 44 S-1 +3 -50 30 70
12 2 49y N+1 a5 650 6.0 40| 7 9 INO= v4 -90 30 70| 8 5 54N-1 &K -50 30 7.0
5 1 6y N-1 &8 -100 0.0 100(12 3 INO+1 v4 -120 0.0 100 4 10 5vDV= &K -850 0.0 10.0
7 410 Bésta kontrakt 8 « ED10 Bésta kontrakt 9 &« Kn6 Bésta kontrakt
Syd v EKD6 5¢v S =650 Vast v DKn986 5¢v N =450 Nord v E943 4v N =420
Alla + EK6532 Ingen ¢ Kn ov + KD52
«D5 & ¢ v & NT #10973 & ¢ v & NT «D76 & ¢ v & NT
4 E732 4 KDKn54 N 8 11115 8 4762 4KKn9843 N 118 116 10 4 ED1053 4982 N8 9 107 9
vKn75 9932 S 7 11115 8 v10752 v- S 107 116 10 v Kn5 v 876 S 8 9 107 9
¢Knl04 o7 052282 94 ¢K106532 0O 2 5 2 7 3 4103 ¢+ Kn874 O4 436 3
#Kn103 #K874 V52282 #KD86 #Kn V24273 #KKn54 #1093 V4436 3
4986 a5 4 K74
v 1084 v EK43 vKD102
+ D98 + ED87 + E96
»E962 #E542 »E82
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
8 10 5¢ N= oK 600 80 20| 7 3 54DO-4 vK 800 100 00| 6 1 3NS+2 «3 460 10.0 0.0
9 6 5¢ N= oK 600 80 20| 8 10 44DO-3 ¥vA 500 80 20|10 7 4v S+l &4 450 8.0 20
12 4 5¢ N= oK 600 80 20| 5 11 4vy N+1 ¢2 450 6.0 40| 9 11 4v N= v38 420 50 5.0
2 1 340-2 ¢8 200 40 60| 9 6 4¢vN= *] 420 40 6.0(12 5 4vS= *T 420 50 5.0
5 11 4¢ N+1 &K 150 20 80|12 4 54DO-2 vA 300 20 80| 8 4 3v S+l &A 170 20 8.0
7 3 3vN-1 &K -100 0.0 100 2 1 3vy N+1 &J 170 0.0 100 3 2 4vS-1 *T -50 0.0 10.0
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10 4 K5 Basta kontrakt 11 4 Kn6 Basta kontrakt 12 4 D1087 Basta kontrakt
Ost vKD106 4v N =620 Syd v 105 4¢ S =130 Vast v9 3v V =-140
Alla + KKn653 Ingen + E10954 NS 4753
*K6 & ¢ v & NT #EK105 & ¢ v & NT #Kn9632 & ¢ v & NT
48642 «DKn7 N 7 8 108 8 4E942 4K73 N 6 106 7 8 4 K63 4 Kn5 N85475
vKn74 v53 S77 9738 vDKn3 vK8764 S 6 106 7 8 vK8754 vD632 S85 475
+84 ¢ ED1072 055355 ¢Kn2 ¢D 06 3654 +108 ¢ ED642 057967
#Kn532 #EDI10 V55355 #9862 #DKn74 V73654 «D54 #EK V578967
«E1093 4 D1085 4 E942
v E982 vE92 v EKn10
+9 ¢ K8763 ¢ KKn9
#9874 3 #1087
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 2 2vN+1 8 140 90 10| 7 2 3¢ N+2 &7 150 90 10| 7 2 4v V-1 *J 50 8.0 20
10 7 1lvS+2 +8 140 90 10|12 6 4¢ N+1 43 150 90 10| 9 5 4v0O-1 &T 50 8.0 20
9 11 2v N= 4Q 110 60 40| 9 5 4¢N= v4 130 40 6011 8 3v V-1 *7 50 80 20
6 1 16 O-1 &A 100 20 80|10 1 3¢ S+1 8 130 40 6.0(10 1 2¢ O+1 &A -110 40 6.0
8 4 INO-1 49 100 20 80|11 8 3¢ N+1 w7 130 40 60| 4 3 29 V+1l a7 -140 20 8.0
12 5 INO-1 49 100 20 80| 4 3 3NS-1 vQ -50 0.0 100(12 6 4vO= a A -420 0.0 10.0
13 486432 Basta kontrakt 14 + E654 Basta kontrakt 15 » EK8 Basta kontrakt
Nord v4 34 N =140 Ost v 97 3NT O =-400 Syd v D96 64 VD -51100
Alla + EDKn74 Ingen +ED NS 4 5432
#106 & ¢ v & NT #96543 & ¢ v & NT #E103 & ¢ v & NT
41097 4 KKn5 N 4 105 9 4 4 KD9 #1087 N53453 41076542 & DKn9 N 5 11126 11
vK102  vDKn96 S 4 105 9 4 v Kn5 v EKD8 S53453 v 102 v8 S 5 11126 11
+82 ¢ K63 06 3746 ¢ Kn98532 ¢ 1064 O 8 109 8 9 ¢ D7 + K96 oO71171
#KD752 #E43 V63746 +108 #EKD vV 8 109 8 9 *Kn74 #KD9652 v7i1i171
«ED 4 Kn32 43
vE8753 v 106432 v EKKNn7543
¢ 1095 ¢ K7 ¢ EKn108
#Kn98 #Kn72 »8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 3 3¢ N+1 &A 130 100 00| 8 3 3¢ V+l ¥9 -130 100 00| 2 10 6v S= v2 1430 100 0.0
10 6 3#0-= +5 -110 80 20| 1 9 2NO+3 w7 -210 70 30| 1 3 4vS+2 T 680 6.0 4.0
1 9 INV+2 7 -150 30 70 5 4 2NO+3 #J -210 70 3.0|11 7 4v S+2 44 680 6.0 4.0
5 4 2NV+1 v4 -150 30 70(11 2 3NO+1 3 -430 30 70(12 8 4vS+2 +Q 680 6.0 4.0
11 2 2NV+1 v4 -150 30 7012 7 3NO+1 v2 -430 30 70| 6 5 4v S+l a7 650 1.0 9.0
12 7 INV+2 43 -150 30 70(10 6 3NO+2 2 -460 0.0 100 9 4 49y S+1 45 650 1.0 9.0
16 & Kn3 Bésta kontrakt 17 & K1085 Bésta kontrakt 18 4103 Bésta kontrakt
Vast v KKn3 ANT N =430 Nord v Kn7 34 OD-1100 Ost v Kn85 64 S =1430
ov + KKn985 Ingen ¢ KD853 NS ¢ EKn
#DKn10 & ¢ v & NT #Kn8 & ¢ v & NT #E87543 & ¢ v & NT
4D742 4109 N 10107 1010 «E9632 D7 N459538 K7 & Kn42 N 8 127 129
vED975 v10864 S 10107 1010 v- v 86542 S459538 v KD63 v 10972 S 8 128 1211
¢E3 + D104 033633 ¢ E1094 ¢ Kn6 097 484 +82 ¢ 7543 041511
*42 #8753 V33633 #ED96 #10542 V97484 #Kn10962 #KD V41511
4 EK865 4 Kn4 « ED9865
v2 v EKD1093 vE4
¢ 762 *72 ¢ KD1096
»EK96 #K73 *-
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 3 3NN+1 »T 430 90 10| 2 4 4vDS= oA 590 100 00|12 9 44 S+2 ] 680 100 0.0
9 4 3NN+1 T 430 90 10| 3 11 4vS= *T 420 80 20| 3 11 44 S+1 vK 650 70 3.0
11 7 3NN= v4 400 60 40| 1 8 3NN= «Q 400 50 50| 7 6 44S+1 &9 650 70 3.0
6 5 34S= *4 140 40 60|12 9 3NN= +Q 400 50 50| 1 8 44S-= +8 620 40 6.0
2 10 3NN-1 v4 -50 10 9.0|10 5 2vS= & A 110 20 80|10 5 3NS= v3 600 20 8.0
12 8 5¢ N-1 »T -50 10 90| 7 6 4vS-1 +4 -50 0.0 100 2 4 6vyN-4 &5 -400 0.0 100
19 2 E742 Bésta kontrakt 20 & EK843 Bésta kontrakt 21 492 Bésta kontrakt
Syd v 975 24 SD-1-100 Vast v E42 ANT N =630 Nord v K542 ANT O =-430
oV + K1064 Alla ¢ DKn53 NS + D6
*K6 & ¢ v & NT *4 & ¢ v o NT 109853 & ¢ v & NT
4 KKn108 &D9 N88577 4109 4 D7652 N 6 10108 10 #1076 4 EKDKn N6 2533
vKDKn84 v632 $88577 v107653 v38 S 6 109 8 10 vKn973 vE10 S6 2533
+83 ¢ E975 045856 ¢ K10986 ¢ - 06 3343 ¢EKn4 ¢ 107532 O 6 108 1010
«D7 #Kn983 V45856 *8 #EDKN7532 V 6 3 3 4 3 #D42 #EKn V 6 108 1010
# 653 «Kn #8543
vE10 v KDKn9 v D86
¢ DKn2 ¢ E742 ¢ K98
#E10542 #K1096 *K76
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 9 3vVv-1l +6 100 90 10|12 10 54DO-4 «J 1100 100 00| 5 2 3NV-1 &T 50 100 0.0
12 10 3v V-1 v7 100 90 10| 4 1 3NS+1 &8 630 80 20| 9 8 3NV= &T -400 80 20
8 7 2vV= v5 -110 50 50| 2 9 3NS= 8 600 6.0 40| 3 10 3NV+1L &T -430 50 5.0
11 6 2v V= a2 -110 50 50| 3 5 440-2 +A 200 40 60| 4 6 3NO+1 9 -430 50 5.0
3 5 34N-3 v6 -150 10 90| 8 7 3¢ N-= *A 110 10 90| 1 7 3NO+2 9 -460 1.0 9.0
4 1 INO+2 4 -150 10 90|11 6 3¢ N= *A 110 10 9.0|12 11 3NO+2 8 -460 1.0 9.0
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22 « E843
Ost v EK8
oV + Kn5
#9864
& KKn5 «1097
v63 v 542
¢ 742 ¢+ ED1063
&#ED1052 #K7
& D62
v DKn1097
+ K98
&Kn3
Par Kontr Ut
1 7 2v S+l *7
5 2 3vS= a5
4 6 1vy S+1 T
9 8 2vS-1 *7
3 10 3vS-2 7
12 11 3v S-2 *7

Basta kontrakt

3v SD-1-100
& ¢ v &N
N4 4876
S44876
09 856 6
V9856 6
Res Poang
140 9.0 1.
140 9.0 1.
110 6.0 4.
-50 40 6.
-100 1.0 o
-100 1.0 9.
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